Summary Notes - Conservation of Momentum 2D.notebook

May 23, 2018

- Bocce Ba =
File Edit Experiment Data Analyze Insert Options Page Help |
DSQ @ crer -8 BAAALLILETAMIE B
No device connected.
¥ S 3275 (15.38,3.872) 01.066 u
.
5
4 Il{ E
) =
]
[l
=]
0
] (=] ] 64 ) i

3975

ile Edit men Data Analyze Inset Options Page Help

(@ 0@ Pt -5 MUAAALALTAME EHo-

No device connected.

LF T |

(-47.06, -8.035)

EEE MEEREL

]

im

Apr 19-11:59 AM



Summary Notes - Conservation of Momentum 2D.notebook May 23, 2018

Conservation of Momentum - 2D (glancing collision

Before the Collision
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Conservation of Momentum - 2D (qlancing collision

Before the Collision
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1. The diagram below shows two balls each with mass 250g. The
white ball is moving at 4.5 m/s before it collides with a stationary
black ball. After a “glancing collision” the white ball moves off at
an angle 30°[down] at a speed of 3.0 m/s. Find the velocity of the
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2. The small black ball in the diagram below has a mass of 88 grams and is
moving at 7.3 m/s [E50°N] and it strikes the 180 gram large white ball moving at
1.80 m/s [W20°S]. The small black ball moves off at 4.2 m/s [E15°S].
Determine the resulting velocity of the white ball after the collision.
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Pool Hall Physics

In analyzing problems like the game of
pool when the masses of the objects are
equal, it is often convenient to ignore the
mass of the objects and deal with
velocity vectors instead of momentum
vectors.
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resultant velocity of ball 1 (v,').

After the Collision
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1. The diagram below shows two identical billiard
balls before and after a glancing collision. Find the
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Explosions

A device that "pops" apart into three separate pieces is initially a horizontal

surface. It pops into three pieces and all of them fly off horizontally. The first piece is
2.0kg and flies off at 20.0m/s|N , the second piece is 3.0kg and flies off at 12m/s

°N]. The third piece flies off at 30.0m/s. S
. = ¢
&

a. Find the direction the third piece flies off at.
b. What is the mass of the third piece?
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